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4-22.Solve (x -3)>-2=x+1 graphically

4-23. Graph a system of equations to solve 2 |x - 4| -3= %x -3.
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4-24. Solve each of the following equations using any method.

a. -3J2x-5+7=-8

b. 2|3x+4|-10=12
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4-27. Solve the following equations. Be sure to check your answers for any extraneous

solutions. a m—x=—8
- = onN
(foxt )20 Gl
X ﬂ SN \9/

Iw—l = (K“g\/{K§\

\U

b. V2x—-1-x=0
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4-28. Find the value of x.

a.

15

10

39

]

30

Use the solutions to check your
answers carefully.

You have 5 minutes.

-Use a pen, record your scores
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(4,9 /A line
intersects a
sideways
(sleepy)

; parabola at
two different

Qoints

\
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2 minute brain break
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Algebraically, find all 4 solutions

e dibfich
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v+ ( X*-13) =25
X"+ (3)a-13) 285
\
Yﬂ(ef) [ ] O\(‘ e

L/’/7




March 04, 2019

-3 the ensiex
W 0)’

9= X & +uo < e (Sue Y6 are
(= i C3-9 ond (3,-4)
X= %3

lugy W =3
-\hfé\ $\P\-\§3 +he o’;\jz' WO




March 04, 2019

See your Ch 3 Test,
finally
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